Espressioni con potenze.

a) 7h=1672%+3% ;3= ' 1771
b) 26:25+35£34+15‘:15: (61
8} (% -3+ 18:3) 7= _ (2]
d) (33+3):10+(5%-5).2.6%= [1443]
e) 23.12-12.(13-2%= [216]
f) 22-2.3%+17.12-[2+43 (2°+1)] = [781
a) [(130:13-5)-2%:2].[3%:(9.3)]= [11
h) 22.5%-2.(4+1)+3%:3%= (991
) [(B+5F:32+2%: 2%]. 3= [(12]
N 3.10°+4.10°+5.10°= [3405]
m) 4.5%°-12%:4-(112.2-3%.2-22.3):2= (3]
n) (102-8%):2+6%:2-4%.2-3.1%= (11
0) 4%: 4%+ (16-23%-63%:6< (441
p) 22+3.5-32.154+2%: 425 5% [6]
q) {(62~22).22+24]:(2.52-38): [12]
r) 3.13-(2%+3%).2+15-(7%+21):7= [101]
s) (33.2:11)2-22.3-(15-3%)*:36= (181
1) [48:23+(3+4é)_2-102:4]+(3.5+23-3):3= [321.
u) (4+2°-32)P+[2.95-(2.5%+2%.5%)+32]:6= [39]

V) (BP+55=12%). [P +3°-(6.5.2%+10°):4-2%:2 J= [198]



